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1) The equation 2 1 0x x    has: 

 

A) Three real solutions 

B) One real solution 

C) Two real solutions 

D) Two complex solutions 

 

2) 82i  is equal to which of the following: 

 

A)   

B)    

C)       

D)    

 

3) The complex conjugate of 3 4i  is:  

 

A)       

B)        

C)        

D)       

 

4)  The solution of the inequality 3 13 7x   is: 

 

A)  , 2   

B)  ,3   

C)  ,2  

D)  2,    

 

 

5) Solve the equation 1 0.5x   

 

A) 1.5   and   0.5x x   

B)  0.5   and   1.5x x      

C) 0.5x     

D)  0.5x     

 

 

You must write the correct answer to each question in the box below 

  
Question 1 2 3 4 5 

Answer      
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6) The solution of the inequality 6 9 8x    is: 

A)  6,7  

B)  3, 1   

C)  7, 6    

D)  1,3   

 

7) The solution of the absolute value inequality 2 4 3x     is: 

A)   2,2  

B)   ,   

C)    , 3 3,     

D)  2,2  

 

8) If   2 3h x x    can be written as a composition   f g x , then: 

A)     23   and   f x x g x x    

B)    2 3   and   f x x g x x    

C)     2   and   3f x x g x x    

D)    3   and   3f x x g x x     

 

9) If   2 5f x x  and  
1

1
g x

x



, then   3f g  is given by: 

A) 5
2

   

B) 1
6

 

C)11
5

 

D) 3  

 

10) The graph of  2 1f x   can be obtained from the graph of  f x by: 

 

A) Shifting 2 units up and 1 unit left  

B) Shifting 2 units right and 1 unit down    

C) Shifting 2 units left and 1 unit up   

D) Shifting 2 units left and 1 unit down 

 

 

You must write the correct answer to each question in the box below 

 

 

  

Question 6 7 8 9 10 

Answer      
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Q11) (4+4+4 pts) Solve the following equations: 

 

a) 2 3 18 0x x     

 

 

 

 

 

 

 

 

 

b) 4 64 0x x    

 

 

 

 

 

 

 

 

 

c) 2x x    

 

 

 

 

 

 

 

 

 

Q12) (4+4 pts) Solve the following inequalities: 

 

a) 7 5 12 32x    

 

 

 

 

 

 

 

 

b) 7 2 8x   
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Q13) (6 pts) Express
8

1 2



 
 in standard form a bi . Show all your steps. 

 

 

 

 

 

 

 

 

Q14) (4 pts) Solve the absolute value equation 3 4 8 12x    

 

 

 

 

 

 

 

 

 

 

Q15) (6 pts) Consider the piecewise defined function  
 0

3       0

x if x
f x

x if x


 

 
  

a)  Evaluate  1f  ,  0f  ,  1f  and  2f  

 

 

 

 

 

 

b) Sketch the graph of the piecewise defined function. 

 

 

 

 

 

 

 

 

 

 

 

 

Q16) (4 pts) Find the average rate of change of   3 26f x x x   between 0x   and 2x  . 
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Q17) (12 pts) The graph of a function  g x  is given. Find the following: 

 

a) The domain of  g x . 

 

 

b) The range of  g x . 

 

 

c) The value of  3g  . 

 

 

d) The value of  1g . 

 

 

e) The coordinates of the local minimum of 

 g x . 

 

 

f) The interval(s) on which  g x  is decreasing? 

 

 

 

 

 

Q18) (8 pts) Consider the function   3 1g x x      

 

a) Find the domain of  g x  

 

 

 

 

b) Use transformations of the graph of  f x x  to sketch the graph of   3 1g x x     

 

 

 

 

 

 

 

 

 

 

c) Find  1g x
, the inverse of  g x . 


